INSTALLATION INSTRUCTIONS FOR
GAS CADDY : FX NYTRO RTX, MTX, XTX f =

SMA-8GL63-00 <
SMA-8GL73-CD-DY (USA) Qf/

FX NYTRO MTX Models

a) Remove the three push nuts retaining the housing cable onto the tunnel (see Fig. 9).

b) Position and fasten the right upper part of the gas caddy (#1) onto the tunnel using the M8x20mm Allen socket
machine screw (#11), the 5/16” DIA flat washer (#16), and the M8 nylock nut (#15) (finger tighten only at this
time) (see Fig. 10). :

¢) Using the gas caddy (#1) as a template and drill the upper mounting hole with a 5/16” DIA drill bit. Drill the two
lateral mounting holes with a 7/32” DIA drill bit (see Fig. 11).

d) Fasten the left upper part of the gas caddy (#1) onto the tunnel using the M8x20mm Allen socket machine screw
(#11), the 5/16” DIA flat washer (#16), and the M8 nylock nut (#15) (see Fig. 12).

e) Fasten the lower part of the gas caddy (#1) onto the tunnel side using (2) M5x25mm Allen socket machine screws
(#10), (2) grommets (#19), and (2) M5 nylock nuts (#14). Tighten all machine screws and nuts (see Fig. 12).

Fig. 9

Q=" ===
.

o
@
N\ \@
@\
% N\ @-=
=Y 4'

0=

REAR RIGHT

VIEW B VIEW
Fig. 11 \/
/

/,_/\

—— /

~6 @ °

®
é

§7/32" DIA
REAR RIGHT REAR RIGHT
VIEW v VIEW
2280004 -4 -

A-2280004 Rév. B




